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Chapter 11 Quiz Review
Advanced Algebra
For Questions 1 – 2, (a) describe the pattern in the sequence and (b) find the next three terms.  

1.  80, 77, 74, 71, 68, …






1a.  ____________________











1b.  ____________________
2.  4, -8, 16, -32, 64, …






2a.  ____________________










2b.  ____________________

3.  Suppose you drop a tennis ball from a height of 35 feet.  

3.  _____________________

     After the ball hits the floor, it rebounds to 80% of its previous
     height.  How high will the ball rebound after its fourth bounce?

4.  Write a recursive formula for the sequence -2, 7, 16, 25, …

4.  _____________________
      Then find the next term.










________________________

5.  Write the explicit formula for the sequence 1, 4, 7, 10, …  

5.  _____________________

     Then find a12.










________________________
6.  Given the formula 
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      a.  Decide if the formula is explicit or recursive.



6a.  ____________________

      b.  Find the first five terms in the sequence.



6b.  ____________________
7.  Is the sequence 2, 4, 7,10, 13, … arithmetic? 



7.  _____________________

     If so, identify the common difference.

8.  Find the 32nd term of the sequence 3, 18, 33, 48, … 


8.  _____________________

9.  Find the missing term of the arithmetic sequence -1, ____, 11, …
9.  _____________________
10.  Find the arithmetic mean an of 
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an−1 = −2 and an+1 = 3
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10.  ____________________

11.  Is the sequence 1620, 540, 180, 60, 20, … geometric?


11.  ____________________
       If so, identify the common ratio.
12.  Given a1 = 2 and r = -2:

       a.  Write the explicit formula for the sequence.



12a.  ___________________

       b.  Find the fifth term in the sequence.




12b.  ___________________
13.  A rope is swinging in such a way that the length of the arc

13.  ____________________
       is decreasing geometrically.  If the first arc is 12 feet long
       and the third arc is 3 feet long, what is the length of the 

       second arc?
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